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i

_In(2-x)
4) y= ;
@) v Jz

_ 1
(5)x—¢2+t+@“_ty
&

R
2. R FI R ER 8 SR -



(2) y=vIn(7+5x - z2);
&

(3) y=arccos v 12—1+—‘21 1
-
fé

(4) y= lxIl—x'
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i EHNy=f(w)=lnu+1l,u=g(x)=vVz+1,FL

y= flg(z)) =z +1)+1
3. A bdEH f(g(x)REAX, K (o) EEX

X 2K [u) RE )RR TR 8
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fi#
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B f(x)=22+1,3R f(2D), [ f(2) P £(f(x)-1).

LR flx)=2x+3,g(zx)=6x+K,H f(g(x))=g(f(2)),R K.
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# f(sinx)=1+cos’z,3R Ff(x).
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16. # f(e*+1)=e*"+e"+1,5R f(2).
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18. % f(x+1) - f(x) =8z +3, ARBEFESR f(z)=ax’+ bz + b PH
a,b1H.
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EZERE yv=siner &S IEFZEE x = arcsiny (W E B, v = arcsinz )
R y = cosx SR RTZEE x = arccosy (M E B, y = arccosx)
HBEEE Y = a" SFTE R 2 = log,y(BE M y=log,x)
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B OEH Y= SERIE 2y + 2y =1z, Ml 2 8

C1-2y .
B 1+y

ERBFRMREY. EHER y= 1525 WERRREH

1+
fHiz) = %
Gl 8 SRTFIeREH SRS
(1) y=sin(x—1); (2) y=10="1,
B () FHEXRHEAMREHICS, B y=sn(z- 1B x-1=
arcsiny , fBth = 1%
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(1) y=vVz+2;
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(3) y=arctan(x +4);

fig

(4) y=1+lg(x+2).
&

hRE

20. KT 3 sR %R IR DR EK -

(1) y=v 22+ 1(2<0);
&
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v=x?+ 12 WHERE 2 SHH 1 nEsE)E 4T,
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(6) y= tan%%ﬁﬂ S

(7) y=arccosv 1— x*REH
(8) y=In(1-x)? &M 5
(9) y=3= R ;
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WRE y= f(2)WEXEN N D, P HFEER M, 182 x BLD BEM—4
{ELAF , X BB BRENME (2 ) BRI R A ER
| flo) <M
PR f(2)FE D L ER; B, FRATLR.
BN, IE5Z R y = sinx , MIZBAE y = cosxr BPRA R EH, XEE K | sine |
<1, | cosx | <<1; T IEVI PR v = tanx FIRVTEE y = cotx TR EEL.
MZEE, —TREEEAR A EEHEFWHER R, 5 AZEHE

B R B,y = A0, LIRS BAELL, + o) AR
2. i

W<z, BXE I FREERA, EEE
flx) < flxy) B flz) > flxy)
R f()FEXIE I _EPEE MR RmEs. EE =Z R F HISENTS KA E
BRI SRR S S N, BT LA LA R

3. FigH

W y=f(2)EXEXFRANIHROXE 1 L%

(1) f(—z)=f(2),FF () HBRE, CHEEXT y #XTFK;
(2) f(—x)=— f(2), % f(2) N8 R, BB X T F AR
(3) f(—x)Ff()B f(- )7~ f(x), B f(x) RHIEFIEBRE.
8110 FBIT I REAH A B

() fla)=lzl+ finzx 2) y=In(x +V1F ).
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(D) A()PEXEH(—oo,+0),HH
oy _ [sin(= x) > _ sin*z
fl==z) = x|+1+(_x)2—lxl+1+xz—f(x)

BREL £(o) = 2|+ 352 gy
@) BAH f(_f)zln(—x+m)=ln(“ 1+22—2)(W 1+ 2> +x)
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Bl y=In(z+v 1+ 2?) RHEHK.
T AEEEAUNEEE TS
(1) B3 RS AI AL 27 R %Y
(2) PIMB BB AT 18 R
(3) PIMMBERE B {8 R %Y ;
(4) Pif-ar R B BLR (R R 35
(5) =M arkf s — MR RE TR
18 FH X SR8 10 30 4 W — e 7 B R B A B, RE A 4R B AR R
Bl 11 FREHPIETFIERAOREE] ).

A.y=z*+ cosz B.}y=%+sinx C.y=%cos.r D.y=z3+1

B 5N ARMBREBAH CELEAEE, M DE—ITFEKS —MERHK
ARI, B IEAT IEMB K%K, Bk D.

4. A |

BE y=f(z), MBHFEERER T, B FENSBHEE 2 R+ T, 88%
=Y
flz+T) = f(x)
BGAE, JUFR () R Pl R . — MRk 2 BB/ N IESR T Rz ek B R 8.
Blan, IEFX A% y=sine FMARTZLEE v = cosx HIALIEBR 2n; EYIRE y=
tanx FIRYEE y = cotx BIERTE =

Eﬁﬁ[y:Asin(wx + @)l y=Acos(wr + @) K BN T:%;ﬁﬁy=

Atan(wzx + @) y= Acot(wr + o) KR TZ%.
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